20194 98¢ X211

i = %+ 9 L o i 2 X & L o
nez 32,377,000 3582 ZlQlmeH| 40,000 [=12101
FUdF 18,627,650 | F M 225 L ~AF H 26 e =T 410,000 | A, MSHY gA2T a3
UAF 1,960,000 |4474 = ° 14,145,130 [At2 %9149 ot2HtolE
AR EXIE 300,000 |==XFAIAF2A 3| ol H| 300,000 |XI+ 53 2 Xy
JIEtZ R Z 130,000 [&F8t712 119748 A 718k 20t AR & EH| 31,280 |27 &
Sgd3 3,541,680 | RN 27t /30|82 EMoIMY| 120,000 |= A 7ol
71823 67,075,000 |dmo| = 2told FR+HAST &8 FH| 1,230,390 |T M E UL L YR T
JIEF IR Z 91,618 [ E+U3 o ] 2,824,930 |71 22042t/4 = 650t/ A7k A 110
O| Xt 4=l 60,095 [l ZolAt PN 140,000 |F&
=UA 124,163,043 QX2 487,900 |=At71, 8 %71
M| M b 1,966,800 |&H &S 5tk M HNUHES £y 715,550 |MIZ H 7190 2|8 o] &
papmiC] 1,580,270 |F & clbIX& 0, m2a| M, HI| S M| 268,560 |H=t QB AOlE
FUStR 2P| 470,000 |58 T8 100,000 (ZFE ol
EHGF 3,541,680 [/ X7t 2%t /80|33 L P53 L=R-: )= 19,400 |53 71 AtBH 4
AbH| 22 g H| 2,727,530 (= .2 Seo|Z Ay 967,630 [HYAF LY 3. LY
=&l 2,610,000 |2% Al My 1,700,000 [efloizd M %]
S AHH| 8,688,200 |22 AL MEQIBIALE F E | 120,000 |&H&
AtM ZHZEH| 12,730,000 |= A AALFT U S IS HEQLME QI PPN 500,000 |27t =2|H]
AXD) 7Y S| 600,000 |=nxdd E42H H| Z 90,600,000 |27t/ ol
A E1Q13750H /543 3| 50H/F DS B 7HAIX 10 M 11,523,250 [138,279,000% 34,569,750t &
ChHA| 2 = | 7,824,400 |2H/F AAS1152H/X| F RHEESFRF2250H/F H A
M158t/3 A H 24| 7,50t/ BERH150E NEY| 168,982,900

SHHELICH &
ChEh- R olg2 |Zetet
FEM7 237y |oFne
HEsTA ojorg [Al4l2lot
BTEETY Z4F8 [HIZLUF
ch=E aUz (el
ragdTy golLt [atalot

6TAEIRE JIF) | dFE |YXITt




